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Name

Date

1. Multiply and model. Rewrite each expression as a multiplication sentence with decimal factors. The first
one is done for you.

1
4
LT T b. TX T
1x1 ey
10 x 10 - _'}
17

| =" 1-02
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~~
2. Multiply. The first few are started for you.
a. 5x0.7= b. 0.5x0.7= c. 0.05x0.7=
= 5 X l = i b l —_5_ X l
% 10 SHGT AR 100 © 10
_BRT L ER7 = 5T
T T10x10 T 100x 10
35 = %)
T10 B 'j?o 2 ?0506
e
=35 5 = .03
= ©.3% == i
d. 6x03= e. 0.6x03= f. 0.06x0.3=
kil B N Lo
; \o X l o le lee ‘a
LX3 - .25 1R énz =
le % e oK. tacklo .. ;
16 ,i ’ s . lo.18 ' ( 7 et
e 1 e L‘\ "'%o = ‘9- ‘g‘ 100~ “‘E'/‘g
g 12x4= h. 1.2x04= 3 i. 0.12x0.4=
j2 > u= 12 x4 = ey en
Vo AR Vol I
(o & o VXY #
I,y = /"SX’,Z;‘;—'——:" - \2 x ;,,"_*ffm:
o ‘Lv""tgp \ee X lo (oo™ IS
2z _ q s - Rl
g N2 g 0-082
3. Aboy scout has a Iength of rope measuring 0.7 meter He uses 2 tenths of the rope to tie a knot at one
end. How many meters of rope are in the knot? s L
O-Tx 0.2 = -:f--‘ > z - 1\“/‘:‘ s 'q‘v,.- ) tq
o f".*? \!,/'\"!5)‘ fc’.JC:‘ (./
1 ¥ o
Thete ave 014 v 6§ vepe.
. 4. After just 4 tenths of a 2.5 mile race was completed, Lenox took the lead and remained there until the
end of the race. F = {_?
a. How many miles did Lenox lead the race? —— _l‘f__
R ; R L .
Y A 7 a6
=2 05-£ 86 58 15 [y
: lo- o loe "
i i'\ B i P
Lenox [&m. the vace f 1.9 miI€S
b. Reid, the second place finisher, eveloped a cramp W|th 3 tenths of the race remaining. How many
miles did Reid run without a cramp?
T 1,25, 1xt8 115 _ (=]
— - b Sl SRS :_n’/.-- - ‘ ba'— .01
[0 XZog Lo fQ (Q{!b Lab 1'9
Qm’:’i a0 119 wiiz g witheut A ~vousia
) s bl { —~
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Name Date

1. Multiply and model. Rewrite each expression as a number sentence with decimal factors. The first one is

done for you.

a = )(1
G VO
oAxt
T10x10

=
A
1o

o

0pX1.9= |,\u

S

X i

EUREKA ’ Lesson 17: Relate decimal and fraction multiplication.
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2. Multiply. The first few are started for you.

a. 4x0.6= b. 0.4x0.6= c. 0.04%x0.6=
i g ’ 5 i B
=% ETRaET) TR
4x6 _ 4x%6 bl
=10 T10x10 T 100x10
24
—r = 12.‘,/ = Q»q
10 e— - 22 SRR “
2 T ow O.24 !-’-‘»:xg'_o 024
=24
d. 7x03= e. 0.7x0.3= f. 0.07x0.3=
5 2
7)( —"; S AR _lx,‘f. =
o e "o
2 (&=t Tlexlo oI ht .8 Toox1e  Two”
g. 13x5= by 1B%0.5= . i. 013x0.5=
| X
s o o = LE 12,0 B9, Bus. e
{o e o \o*\@ oo {o-——’—“""

L2 =0 (fL'a\ L5 4003\ A%Z@

3. Jennifer makes 1.7 liters of lemonade. If she pours 3 tenths of the Iemonada inthe glass how many liters
of lemonade are in the glass?

PN
la? \(—0"6 — \loy 10~ lox )6 5 loo ,.,...—?-vl

Jcnmfe( has 0.5\ ldes n The \6}

4. Cassius walked 6 tenths of a 3.6 mile trail.

?
a. How many miles did Cassius have left to hike? _l,?_ = G -t _‘i
H X 3 é e ,.,.-.« = 'H “ ,.../ Lo 1o ‘\-»-'o'ﬁ
1o {6 lo 12

{J_?QS"S/U h ? I 4‘1/}’7”{5 7[0 Wﬁ’l%}
1.3 mil

b. Cameron was es ahead of Cassius. How many miles did Cameron hike already?

5 25 2+l
R0 b T 5&?(“‘ =~ 21 & rzela\ "l’ \ 3

’0 =it R
{ J ~ e e | iR
lo toxle . (oo 1= ¢ YT

£

7 ¥ £ |

(amctondohed, S-S wies e LS
EUREKA Lesson 17: Relate decimal and fraction multiplication.
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A STORY OF UNITS

Name Date

Lesson 18 Problem Set

54

1. Multiply using both fraction form and unit form. Check your answer by counting the decimal places.

The first one is done for you.

a. 23x18=2x2 o Btanifs b. 2.3x0.9= 2 3 tenths
X 1 8tenths 73 o X__itenths
_23x18 184 S 207 ¥ naved Th
100 + 230 o]
_a14 4 1 4 hundredths 207 B
" 100 s S S - f /R
e °
=414
66 tenths i 1
28 fontlis & ST RS e 23 tenth
e 1 1 1 ;
s 528 te 1o \ 4 Bt
() e - "‘“"“ =
rE e Lo 4
24 3 hyndredtias %3
* reo )';‘ .
2. Multiply using fraction form and unit form. Check your answer by coungirfg the decimal places.
The first one is done for you. g
238, 18 2 3 8 hundredths = v
i o B nd 00 2 3 7 hundredths
= 27 © X 9 tenths
_238x18 19704 e b R C
= too & 2 3 B0 '"‘-,;)i 3 A f;é [ne UL Saye N3
4,2 8 4 thousandths R
i ;
" 1,000 ‘ A2\ 2
=4.284 Lt
606 hamdredtt e SR o
c. 6.06x2.8= i e d. 33x0.14= :
:'- 5 v - & & \u : '
25 . w5t e U
LO6 — = —_— N —— %f') e S
N s 2 U 16 loo . i
oo fo A 2 14 uind vedths
; \A\ & s
y quéﬁ — ¢ ;,
—ooc RO 4
IL-a68 s HGA SR
e « %
EU“KA ‘ Lesson 18: Relate decimal and fraction multiplication. ’T'\nou <a .‘-\"":rf:'l
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2. Solve using the standard algorithm. Show your thinking about the units of your product. The first one is

done for you.
a. 3.2x0.6=192 : b.32x12=___ g, e
e
3 2 tenths B2 B B2 M0 3 2tenths '
© . X_6tenths 10 710 100 x_1 2tenths 384
19 2 hundredths 006
5 MU had 0€4TnS
c. 8.31x24= d. 7.50x35= 75{.) 295
e A =
52\ B 831 2t ~ 150 b e
VT e = X 3% +
¥ o2y T leo \o i e 2¢ AL -
3350 Sciatioie A
2224 ‘1944 o 23; o T \ooo
1 e A \o0e A R e
—— nt, o O ‘l',/) -
}qq A K O o~ 5 G ;2(05*50

o

: B "l
3. Carolyn buys 1.2 pounds of chicken breast. If each pound of chicken breast costs $3.70, how much will

she pay for the chicken breast? .
l«Z b 370 Y 4
2 ) i
=2 :)67 O \DE r ‘ b _Ml_t:_n._
| P -
\ NS <1 ©
G Yot N Y a = AT,
Lty will pay 4494 = ——

4. Akitchen measures 3.75 meters by 4.2 meters. '\2
a. Find the area of the kitchen. !
L o

2.7 wv x-;~,,’; 'ji{._l
4.2 wv L
; : SO
T'ﬁd ayéen S 15.75 m

b. The area of the living room is one and a half times that of the kitchen. Find the total area of the living

room and the kitchen. 23,2 11 5
y 2 15.75 L G2
"\ \6‘7%‘/10'——7,’ & \/‘__J:ﬂ?_ﬂ.. 5 \5~-"7<.5/‘~
LR 15 x 575w 8 19 a6 25
(&TE ol
The Tola\ area s Y 25

WO 3T we
EU“KA ‘ Lesson 18:’ Relate decimal and fraction multiplication.
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A STORY OF UNITS : : Lesson 18 Homework m

Name Date

1. Multiply using fraction form and unit form. Check your answer by counting the decimal places.
The first one is done for you.

3 3tenths
33 .16
a. 33x16=T X 3 3 tefiths . b, 33%0.8= x___ 8tenths
x_1 6tenths 22 3 2649 hundred Hyc
33X 16 ST N B3
2/ E2 0o 198 X 7
100 1 O 10
+ 330
558 5 2 8 hundredths 264
~ 100 Yole
=5.28
~ 2 i 5
\ o O
c. 44x32= ! d. 2.2x1.6= A
g t . & t
Hy e i 2 2 : e
o o CEE X RO 321 Pt 1 2. 9,
o lo \o =
o 8 & AA
y b~ 4 " 2 o ” | =
14e® - B 55 4 2 5iet
\o© {403 W T (0o
lL,X‘OE; - 5'1
3.  Multiply. The first one is partially done for you. Wl
336 _ 14 2 ‘ _ 23
a. 3.36x1.4-mxﬁ 3 3 6 hundredths b. 3.35x0.7= R
- x__ 1 4tenths < :
_336x14 e " . = xi -~ 7:tenths
5 o
4704 236 A
~ 1,000 “; a i Eb ",\,\'L r
=4.704 0. 348
L{ C 4 E/[/ , |
c. 4.04x32= NS d. 4.4x0.16= Ve
5 5 ! o A \ 1111 17 A1 f,
KoY gk oo bikshe =7 08 XK L
Vo Bt 4 . e m e
WP ¢ L2 > {6(
\,OC) L-) ‘ 2 ‘\ 2 ("9 L—‘
\ QQ‘R%~ TR U\ ¢ & LI\
T {0 i 4 TP N e —
Voo \o Z oy th
<
\ 2.4 %
EUREKA Lesson 18: Relate decimal and fraction multiplication.
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4. Solve using the standard algorithm. Show your thinking about the units of your product. The first one is
done for you.

a. 32x0.6= 192 %2 6 Hus b 23%21=_ 2 BRAl 183
— R = = = S
10 ©10 100 10 % s g
3 2 tenths 2 3tent:s 7 o loo
x___ 6tenths x 2 1tenths
1 9 2 hundredths 3
g -
c. 741x34=_14[{x34. 25194 d. 650x45=_90 X415 _ zﬂ‘é‘b/_g__
,7“\{‘/ 1o Xis \ooo égck \wo X |o 06D
24t e d
........ e 29 C
Zq Q wl . 2 { ? O
299 Q2O O
-:‘t’\f&.‘?———-— e o 7 4 i
25 | a9 th 29250 tia
5. Erik buys 2.5 pounds of cashews. If each pound of cashews costs $7.70, how much will he pay for the
cashews? 70 . .
¥ degh
e, l -5 E
$7.00 per b z2e 50 : s
: youo *

He wild pay 419.25 1o aSo
6. A swimming pool at a park measures 9.75 meters by 7.2 meters.
a. Find the area of the swimming pool.

TS d q 07 5
7124“‘“‘ *“"l X 7ol
A i A 950
- The avect \& To 2 wio L 2,9 e
% =1 O.oh O &

b. The area of the playground is one and a half times that of the swimming pool. Find the total area of

the swimming pool a{fi the playground. i ‘ oy 5 5
5P 102 ws _ M=o o
2a g0 ed yyx?’ X 1uO0 ——d—""( . :) - ,;:,,, (::_5

10 2 A

The Tlal greq 1o 1550 44 o
EUREKA
MATH
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Name

~ Lesson 19 Problem Set

Date

1. Convert. Express {/our answer as a mixed number, if possible. The first one is done for you.

EUREKA
MATH

problems.

2 | s
A= T8 yd b. 4ft=_1/5 vyd
2ft=2x1ft 4ft=4 X 1ft
Y
i /2
=2x§yd ‘4X‘!"' yd
2 = TR yd
=3 vd i
c. 7in= ft d. 13in= ft
STl 1 i
Tin= Tx1+t ey st bl S
s el B el e RS (5
=8 v T L h ey ¥ ey
o A 2 B2
g /O P b o
L \2
e. 50z= Ib f. 18o0z= Ib
Sz 6%? b IR srra \ & x \
- 5 Y { 1
o / s E Y & e i
Sigx olh
5 [ ot
B T \(g
. _
S e
A \ 8
Lesson 19: Convert measures involving whole numbers, and solve multi-step worc
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A STORY OF UNITS = ,Les_senffls Prohlém Sétsm

2. Regina buys 24 inches of trim for a craft project. 4
: ; 3 Yo =396 Th
a. What fraction of a yard does Regina buy? >/

S
0 e

f

b ¥ 4
hE e
b. If awhole yard of trim costs $6, how much did Regina pay?

(T,’Q)f.a(_:ﬂ,o rcg-i 3y
)

3. AtYo-Yo Yogurt, the scale says that Sara has 8 ounces of vanilla yogurt in her cup. Her father’s yogurt
weighs 11 ounces. How many pounds of frozen yogurt did they buy aftogether? Express your answer as a
mixed number. :

ool : 1) §
5 %oz + € 4 _xyT[/.";

el 2/ 1

4. Pheng-Xu drinks 1 cup of milk every day for lunch. How many gallons of milk does he drink in 2 weeks?

Ve ¥4 = "He (ﬁ = lbe

ekt ‘\ f\

/ L
\ -— \<( _, .f\nlz: o P N 4
?newg Xa  dtin = gothong
O
EU“KA Lesson 19: Convert measures involving whole numbers, and solve multi-step worc
problems. §
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~ Lesson 19 Homework A

A STORY.OF UNITS

Date

Name

1. Convert. Express your answer as a mixed number, if possible.

2 L4
an 2= 3 yd b. 6ft=_ (3 yd
2ft=2x 11t 6ft=6Xx1ft
/,/
=2><§yd =6x_ {2 yd é/
' 4
o2 = d
== yd y
¢ SinE ft d. 14in= ft

Sox Lok =\ iy o 2
\2 \ 2. b Z S 12
- \-‘L =
& P
e. 70z= Ib f. 200z= Ib
: \ NPIIa o o
Toz =721 1 2062 = 26x1b
e ! -1 % |
oA = = AB X 2 -
b A o
o Rod
h. 4pt= qt

g. lpt= qt

1
! \
‘ > _>-:., s U >< 2. { 2
\ i
/2. Rl i

Convert measures involving whole numbers, and solve multi-step worc

y EUREKA ‘ Lesson 19:
problems.
MATH



A STO>RY>0F UNITS Lesson 19 Homewofk 5e4

2. Marty buys 12 ounces of granola.
a. What fraction of a pound of granola did Marty buy?

1

b. If awhole pound of granola costs $4, how much did Marty pay?

Marty paid 43

3. Saraand her dad visit Yo-Yo Yogurt again. This time, the scale says thé’; Sara has 14 ounces of vanilla
yogurt in her cup. Her father’s yogurt weighs half as much. How many pounds of frozen yogurt did they

“

buy altogether on this visit? Express your answer as a mixed number.
5 o= i g=d ¥
i R | = S s v &/

*

-

' o ; C./
{ i o ’ )
/Y\p]e\/ OOV ,;[ 8 ~
~

4. An art teacher uses 1 quart of blue paint each month. In one year, how many gallons of paint will she
use?

ﬂm CLH' JYeoc‘h@' Wi , U Se ’ aa |

Eu““ Lesson 19: Convert measures involving whole numbers, and solve multi-step worc
MATH S
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A STORY OF UNITS

Name

Lesson 20 Problem Set [EZR

Date

1. Convert. Show your work. Express your answer as a mixed number. (Draw a tape diagram if it helps

you.) The first one is done for you.

a. 2§Yd= 8 ft b. 1%qt=—gal
2 2 12gt=12 x1qt
Zgyd =2§>< lyd Sat=17 q
2 gl
=2§ X 3 ft _12><4gal
8 —Exl |
=§X3ft =9 4ga
- 24 il
= 5 ft —/g
= 8ft
c. 4ift= in d. 9-;-pt= qt
? = /) , A h g v J
2311 (2 | (2 p3 (2 %2
cacyeci) \L" "l =8 i\
I 2 S L
= 5 '
= i.] 7
3 ) T
e. 3§hr—____—mm f 3§ft- yd ;
D /5 | a D ~ > ¥ 3
i P o g '
E > s = o
- :‘\\i'\' e — { Q

EUREKA Lesson 20: Convert mixed unit measurements, and solve multi-step word
T . problems.
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UsS | bn = Zvooo b

2. Three dump trucks are carrying topsoil to a construction site. Truck A carries 3,545 Ib, Truck B carries
1,758 Ib, and Truck C carries 3,697 Ib. How many tons of topsoil are the 3 trucks carrying altogether?

A 3,849 1b e
E) 1;795 “0 )/_758 e 4.2.

C 3,647 b 2 97

amm——————

nt » 1 o
The Thiee truchis corry .2 tong

3. Melissa buys 3;ga|lons of iced tea. Denita buys 7 quarts more than Melissa. How much tea do they buy
altogether? Express your answer in quarts.

Melssa” 3 74 5 ot
Tenta w2 Ayt | % = Vg q i/2+fj/u %
U+ % = 5%y =(:/2 S S ey
R enr % ._/q.* /4 7

el e

9{’?/456;?1':01/?5%

g%t )1‘7 {,S ‘/r \(’ q 364”/’4 £ '7
4, Marvm buys a h

se that is 27 feet Iong He already owns a hose at home thatis = the length of the new
hose. How many total yards of hose does Marvin have now?

Y

2/ - 9\
Voo QT 7 £ 8,7 10

’ AN
old 3 B L/ ] <
AT /4X%/ )1;7(5 i :E!K
27 Yy +\8 /oY g

4o it

\6 ,,‘QOS 4t yé{

EUREKA Lesson 20: Convert mixed unit measurements, and solve multi-step word
MATH

problems.
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" ASTORYOFUNITS e T .

Name

Date

1. Convert. Show your work. Express your answer as a mixed number. The first one is done for you

2
a. 2§yd = 8. .1t B 1%ft= vd

2 2
2-§yd —25 X 1yd

13ft=12 x 1ft
=22 x'3ft : e
% sdg % oyd
==X
i 5y
=2—:ft e
=8 ft . 3§
5 1
C SEft— in d. 7Ept- qt
2 S ¢ = \ ,;': 3 l
2 8 P 7 ) e
\"7 // - 2 ' -
= 2/, 2+ 27
O 76 A 15 : 2 \\’Cj: = 2%
s - % b . v» J i (:.'2 P = u ~
&) 4% b= fhin f. 33 months = years
3/ = 28 \ 3273 x \/i 2
L‘( /QKCJQ" Z4o0 & 5 g
- b Jio S =]
Z —_ 41} P )
= 2 Léé = ‘ // o 5 iR 3 — ———%{‘ v;,{ 2
122 T
B /7‘: L'(f " :;; = (’{Z ‘)//‘J
Lesson 20: Convert mixed unit measurements, and solve multi-step word
EMUARTEHK.A problems.
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the race?

(2
—— =
(O

3. Horace buys 2% pounds of blueberries for a pie. He needs 48 ounces of blueberries for the pie. How

many more pounds of blueberries does he need to buy?

2/ }
Q : M"//’J‘J ? 1{ p

U8 oz

‘r&ova(:f heec

= L{ ,‘”’, 3

I+ "N e

= ! i A ] LL a.“,
o

16V €%

4. Tiffany is sending a package that may not exceed 16 pounds. The package contains books that weigh a
total of9-;1 pounds. The other items to be sent weigh %the weight of the books. Will Tiffany be able to

send the package?

boogﬁ Ol 3’%

3 P 4 ‘
other 75 xY 7%

1

EUREKA ‘ Lesson 20:
MATH

i%&aﬂo wxu ﬂt ao

L e inh \s b

Convert mixed unit measurements, and solve multi-step word



ASTORY OF UNITS

Name

1. Fill in the blanks. The first one has been done for you.

21

-
1 28

b.

S w

3
X1==x
4

Lesson 21 Problem Set 03

Date

7 7
€ =X 1==-%
4 4

d. Use words to compare the size of the product to the size of the first factor.

Gl 25

_x.—_

4 25
oL

i)

A 2.
(PR o =

20

7
g 3
i 24 Gk
25 of
6 &
ki 2=
25 7.

EUREKA
MATH

[O8
Z
(o

7 7L

o A4
Lesson 21:

3'C
/oo
w B ke
-— \( =
5 - /' O
9B e
50 2
s (.2
31 “ vy G K
3_ £ o
50 X = ‘\.p') e

Explain the size of the product, and relate fraction and decimal

equivalence to multiplying a fraction by 1.
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Lesson 21 ‘Prohlem Set m

ASTORY OF UNITS

3. Jack said that if you take a number and multiply it by a fraction, the product will always be smaller than
what you started with. Is he correct? Why or why not? Explain your answer, and give at least two

examples to support your thinking.
2 A i } o : A i
e J) 4 it alusavs 2 Syralip
Jel ? C (oY LN g he Y \ / 4y B Sra .
g " sy s/ < ) 2 SR 17 = s/ 1 3/
I = Mul A g pu (mpio Vor 1o 4 A i =
iy A = B | % '
UU{& o\ { ch ‘ veled  nu i ik
ay&l to represent 1onthe number line. In the space below, write at least

4 There is an infinite number ofw
four expressions multiplying by 1. Represent one differently in each expression

L{ X ; . 2 ¢
— ed

b SR
-
1

5. Maria multiplied by 1 to rename%as hundredths. She made factor pair% equal to 10. Use her method to

'change one-eighth to an equivalent decimal. P
&y 5X5 _ 5x5 =25 _ga5

X
Maria’s way: ~ X
Vi 2T 2x2 " 5xs (2x5)x(2x5) 100

. - ; - sy . 50 ¢ 4
Paulo renamed = as a decimal, too. He knows the decimal equal to 7, and he knows that 3is half as much

as—. Can you use his ideas to show another way to find the decimal equal to =?

{ \2.5 n
9z —— = 04125
v loe @
_‘C( \% O‘/_”\:f' g %7 e ¢ ’ ag L)EJS ’:2
% 2125
:;.}' ";6’27e
2
Y

Lesson 21: Explain the size of the product, and relate fraction and decimal
equivalence to multiplying a fraction by 1.

"EUREKA
MATH
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ASTORYOFUNITS HEma = Lesson 21 Homewaork m

Name : i Date

1. Fillin the blanks.

2 18

- X == G

b 1 e
5 5. 2 25

c _X1=_x_=_
2 2 5 ‘o

d. Compare the first factor to the value of the product.
1 L“Le‘ﬂ are caquriveiey v L1 oS

2. Express each fraction as an equivalent decimal. The first one is partially done for you.

3. 25 . 3x25 79 14525 z
a: - X —= =] = b_ - X == \—'9
4 25 4 X25 100 4

.2.5 lee
F o
P
(3] 2 '
2 2 3 < Sa
Cregeligs d =X—= _—
S lo 5 2 lo
.--« 1926
Bl D) 2 25 - b
e = W= - £ e Y N -
20 S > 20 5 o0
EUREKA Lesson 21: Explain the size of the product, and relate fraction and decimal

equivalence to multiplying a fraction by 1.



EUREKA
MATH

A STORY OF UNITS

. lesson21Homework [ZZ3
<
23 !-{ & 2 B 89 = /5/
8 254 % e % 507" 2 Jo o
u. Y4 _ 344 Mo 2
B e T :

: : 3 o 4296 g s
3. g is equivalent to T How can you use this to help you write gasa decimal? Show your thinking to solve.

% M/ 0475 //u'/'/":f"’

4, A number multiplied by a fraction is not always smaller than the originai number. Explain this and give at
least two examples to support your thinking.

X .
4x3- 12 o,

'

W

‘5. Elise has %of a dollar. She buys a stamp that costs 44 cents. Change both numbers into decimals, and tell

how much money Elise has after paying for the stamp.

Oud 2

5\/\,(; 3,‘;10 OO

Lesson 21: Explain the size of the product, and relate fraction and decimal

equivalence to multiplying a fraction by 1.
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ASTORY OF UNITS ; : Lesson 22 Problem Set [13'8

Name Date

1. Solve for the unknown. Rewrite each phrase as a multiplication sentence. Circle the scaling factor and

put a box around the number of meters.

1 L1 L 1 =
a. jas longas 8 meters=_""1 meters b. 8 times as long as 5 meter = , meters

Draw a tape diagram to model each situation in Problem 1, and describe what happened to the number
of meters when it was multiplied by the scaling factor.
. b. . X g

C- S

e i S
Jff Li_
>

Fill in the blank with a numerator or denominator to make the nun*i'ber sentence true.

7xl<7 b. Zx 15> 15 3xe=3
a. 7y (a C. -5'— -

Look at the inequalities in each box. Choose a single fraction to write in all three blanks that would make
all three number sentences true. Explain how you know.

3 It 3 2 7 -k 7
a. Sx L >= R G ) i >
4 2 % =2 5 2 5
) —’ -
Lize ; relog L ovondy s
o lavaer Fuoclicon ¢lve lasraer Preduwcl ,amnd G Simé;
¢ J\, Jrd i ’ % s y A 7 / C 2
3 3 7 74 L
b. 5 X ! < > 2 X% l &2 = X ’ < =
3 4 >
EUREKA ' Lesson 22: Compare the size of the product to the size of the factors.

MATH
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5.

~ Llesson22Problem Set [T}

Johnny says multiplication always makes numbers bigger. Explain to Johnny why this isn’t true.

Give more than one example to help him understand.

]
X
» G

A company uses a sketch to plan an advertisement on the side of a building. The lettering on the sketch is

6.
% inch tall. In the'actual advertisement, the letters must be 34 times as tall. How tall will the letters be on

the building?
2 3 i - - ]& 2 2 A
= N 9 e % A5 /ul A
o L/ T L
,

;2 7 - 7
b /7 ¢ Y & / 2 2
C K D [ ACNLAL

n ) p
\jv/w L2 g pypectl
: e / '
Jason is drawing the floor plan of his bedroom. He is drawing everything with dimensions that are ll of

7.
the actual size. His bed measures 6 ft by 3 ft, and the room measures 14 ft by 16 ft. What are the

dimensions of his bed and room in his drawing?

bt 5
PG | 5t i
| @ z
| il = e : .l_.‘_,‘

| 7 Lre
—— Rt ) ] :
P A Y _\\ ) e 12 2 o -
Wxyi \% ‘w%’ “_‘ 4% . "« T |
& . 3X 27 23 =l
(0\,( e iy - \-;L = r:?_. \ e 1= 2" "ﬂ‘/’:\_
\ Ve L ]y 3 ’_} /A
v |

in € 7 \.¢ - =
NS al 24002
‘ Lesson 22: Compare the size of the product to the size of the factors.
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A STORY OF UNITS Lesson 22 Homework m

Name Date

1. Solve for the unknown. Rewrite each phrase as a multiplication sentence. Circle the scaling factor and
put a box around the number of meters.

” 4

1 . 1 J
a. —aslongas6meters=__ 4 meters b. 6timesaslongas 3 meter=__ <~ meters
N £ , R * N o I :
{ [ / =\ [ AV { ]
i J = s

, 2. Draw a tape diagram to model each situation in Problem 1, and describe what happened to the number
of meters when it was multiplied by the scaling factor.

Q s
b v :
B e N p——_ b .. e NS
T > e
| i B A e T o s L8 VAR
‘ | | Lk B IS A Al 2 3 Z
&*—L—_’ - — — e e e e e - — \ ¥
N i g =) ) ®
V.
/2

S

3. Fillin the blank with a numerator or denominator to make the number sentence true.

A a.5x1‘33>9 ? b.£><12<13 c.

4. Lookat the inequalities in each box. Choose a single fraction to write in all three blanks that would make
all three number sentences true. Explain how you know.

2 2 2 5 =z 5
a =X _2 >= 4x 3 >4 Zx 2 >=
3 - 3 = 3 - 3
e ¢ <
2 i 2 ) 5 [ 5
b = < 4 x <4 2% <2
3 5 3 = 3 = 3
Pt A
/7
&/
7 A ¥ 77 -
L
’ " i7) 5 > PR &
Cil L ¥ 14 e PP, ’./)ﬂ« ¥ ¢
A‘ g — o e A;’ 3 3= ¢
AP < AV 7
EUREKA ’ Lesson 22: Compare the size of the product to the size of the factors.

MATH



5. Write a number in the blank that will make the number sentence true.

e

a. 3x_4 <1

b. Explain how multiplying by a whole number can result in a product less than 1.

&’Z x;//;.:./;(’" N '/“f"iﬁz L ({”
Y i

: g Ll Lot
R RAVCHALL 7Ty

4

Aty
,{{‘ 4 4 ® < 2 S
/ﬁw /ﬂ’? Z {'\):{': 4 ;:;'fi il -é‘ e L ot = ¢ 2l o

6. Ina sketch, a fountain is drawn %yard tall. The actual fountain will be 68 times as tall. How tall will the
fountain be?

~ wy A g7 £, =y s ,:;/ //
/J[ LE /A ze? i oz avd /74./"0((» AL / 7 /17 4/2&?!4; . ,//' LA
& S .

7. Inblueprints, an architect’s firm drew everything ;1; of the actual size. The windows will actually measure

4 ft by 6 ft and doors measure 12 ft by 8 ft. What are the dimensions of the windows and the doors in the
drawing?

_ p— ; L2 AL ,
e J‘ 4 i

¢

6% foiy = Ghou= Yoy 125 Yoy ”/,z‘f’»"«

Y<Jat= You="V, 8% Jou= Hau=Ys
Fhe duensiene gos. / t fog Yopiasid V2 da s

E““KA ‘ Lesson 22: Compare the size of the product to the size of the factors.
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Name

Date

54

1. Fillin the blank using one of the following scaling factors to make each number sentence true.

a. 34x_[s00 =34

| 1.021 0.989

1.00 |

b. 11021’ x0.21>0.21 c.

a. Sort the following expressions by rewriting them in the table.

x0.069

x 0.489
x 1.24

The product is less than the The product is greater than the 2
boxed number: boxed number:
D.2 s 0-006 ” '/;,. <.» a9 v .06 ¢
y a L/ g a ) I 2 ¢
w&j ﬂ;’;‘-‘:\?f\ / J e A &4 :
” -3 /4 .
De A A 0./ joa,0 51\(@":{3{/5
2=
004 -

2 x 4.015
x 0.1

b.  Explain ydur sorting by writing a sentence that tells what the expressions in each column of the table
have in common.

Vs

&

/{{;r/-.",z

B «

4 LA (’,«M;'{'L» AT I/{,{{( Lo _

i ,.,,Luz&//méz

B Y,
’o 2 ( g

(6 gr g™ <
res T
£i

5 (R'.‘ {T_, 4,, b /’ ULV

/Z’tgtr

.\,’.‘A

4

Lesson 23: Compare the size of the product to the size of the factors.
-7 ¥ o g
£ {' j ,J,Z“ ,"!,

4

£
A UAATAARL L

\ APUHA

i

[
A

piodiel 14 Ylealev
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A STORY. OF UNITS Lesson 23 Problem Set m

3. Write a statement using one of the following phrases to compare the value of the expressions.
Then, explain how you know.

is slightly more than is a lot more than is slightly less than is a lot less than

a. 4x0988 o ptlraisl o 4
b. 1.05x0.8 L 2deasiiis 122808 0.8
& L.'
c. 1,725x0.013 _¢& A Ao L’ 1,725
d. 980.001x1.003 _<¢& & el dn-eil s 1.003
» # > ; 3 ; 3
e. 0.002x0911 .2 Loy 0.002
L‘ . 5

-

4. During science class, Teo, Carson, and Dhakir measure the length of their bean sprouts. Carson’s sprout is
' 0.9 times the length of Teo’s, and Dhakir’s is 1.08 times the length of Teo’s. Whose bean sprout is the

longest? The shortest? Explain your reasoning.

- N P B
Do e \/ Teo y CerSov
{

» = ”
K/T,v"r:,l“ ,"\ ;ff- ’/.;1/ .,4¢’j m'_.{ 7 i’»’

&

&

5. Complete the following statements, then use decimals to give an example of each.

= axb>awillalways be truewhen bis... =72 2 = : D am 4=
L aadt v K
= gxb<awillalways be true when b is... ,./Ll/i’--df’ - _/»‘/-’ ars sV~

EU“KA l Lesson 23: Compare the size of the product to the size of the factors.
MATH
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A STORY OF UNITS

Name

~ Lesson 23H6mework | m

Date

a. Sort the following expressions by rewriting them in the table.

The product is less than the The product is greater than the
boxed number: boxed number:
ga8 x 0«22y 12.& % 1.989
@5 X &t’, J*‘:J‘:‘? x ";A“
2, ".:v ~¢ ], 71
Z20.8 x [+ R6

x 1.989
0.007 | x 1.02

x 0,921
x1.11

o
1
» %

b. What do the expressions in each column have in common?

'./- Doy b sl WP N NN
The D1cesnbtrds e vicedtofr it

2. Write a statement using one of the following phrases to compare the value of the expressions. /Ef Ll

Then, explain how you know.

is slightly more than

a. 14x0.999

is a lot more than

& L4 o a:-' 1€ P
LE. i )
¥ , A AR

. P

is slightly less than

7 47 /7 e
i Aee¥ 1

b. 1.01x2.06 &

/K.;‘-L 2

L€, 206

c. 1,955x0.019 _tz /L

Zpn/ 1,955

EUREKA
MATH

‘ Lesson 23:

Compare the size of the product to the size of the factors.

x1.26
_xo.1

g P

g LAl & L Gy

', i : 7€

y 4 {i P

¥ 4 2 » Vb -
&~

L4 v

is a lot less than
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A STORY. OF UNITS Lesson 23 Homework m

: . 4 Ll
d. Two thousand x 1.0001 AL }j{ﬁ A A ler two thousand
7 y 7 [ L4
AR T e p P £ 4
e. Two-thousandths x0.911 .4 < iy e A L two-thousandths

3. Rachelis 1.5 times as heavy as her cousin, Kayla. Another cousin, Jonathan, weighs 1.25 times as much as
Kayla. List the cousins, from lightest to heaviest, and explain your thinking.

,
& ANY I = : /, 25
baglos o phe Leafileed . Qrridhans in o8 25
Db

/7 7 /
S / > 4 - " {/
AL /5 é?,é;ﬁ,(/é A .4’2 --/Léz&f/g»e./;.c.m
4

4. Circle your choice.

~

a. axb>a
For this statement to be true, b must be (gieat-er than 1) less than 1

i

Write two expressions that support your answer. Be sure to include one dgcimal example.

3% 1.2= 5.6 i

R o D
Yy 5= &

b. axb<a oA
For this statement to be true, b must be greater than 1 </_Iess than ?

Write two expressions that support your answer. Be sure to include one decimal example.

SR L e B

(o8

dx 0-9 =2 F

EU“KA Lesson 23: Compare the size of the product to the size of the factors.
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A STORY OF UNITS ; Lesson 24 Problem Set m

Name Date

1. Avial contains 20 mL of medicine. If each dose is i of the vial, how many mL is each dose? Express your

answer as a decimal.

2. A container holds 0.7 liters of oil and vinegar. % of the mixture is vinegar. How many liters of vinegar are

in the container? Express your answer as both a fraction and a de¢imal. >

5 % 0 )
A 75

e R TR . <7

g F » e
i g = 52 5 Y L =)
X SO0 R eyt L -
@ \o 6 :

¥ , /
 Jtrre ane ¢
A

3. Andres completed a 5-km race in 13.5 minutes. His sister’s time was 15 times longer than his time. How

long, in minutes, did it take his sister to run the race?

% ¢ i }/" 4 4 /7 R A \ ~7
A //J,_C- CUN  f o JA AO s K m”');({ 3

EUREKA
MATH

Lesson 24: Solve word problems using fraction and decimal multiplication.
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 Lesson 24 Problem Set [}

4, A clothing factory uses 1,275.2 meters of cloth a week to make shirts. How much cloth is needed to make
3§times as many shirts?

403
_ / 7“54
L, A7 R - XK 3.6 ~ =iy
i e
TL_. g‘{ ":)w ~

>
-

\

MR

AN}
BN

2,
s

5. Thereare 3 @ many boys as girls in a class of fifth-graders. If there are 35 students in the class, how many
are girls?

NE o

7 3
~ i - )~
g N o /
- i o beu %G =
-~ L] ) &
""l}: Yook n P L . ‘:"“'),.
o 7 -
U :

Jz{-wh; e 2.0 *3“3 ¢

6. Ciro purchased a concert ticket for $56. The cost of the ticket was gthe cost of his dinner. The cost of his

hotel was Z%times as much as his ticket. How much did Ciro spend altogether for the concert ticket
hotel, and dinner?

‘I‘.\c,uu 396

40
L"' . . g - Q F 1 - et
' - = {2 = ‘[ X & - ‘_50 i 1 Al
MwndX 567 g™ D6X3, = T2 5] 39 o
Vi < ..»-'\ (_;(/'
hotel e xalh= W2 Cotl » Uz+28 =0l e
, "l 266
i 4.3 .
Lo _operl, 8266
EUREKA ‘ Lesson 24: Solve word problems using fraction and decimal multiplication.
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A STORY OF UNITS Lesson 24 Homework =11

Name Date

1. Jesse takes his dog and cat for their annual vet visit. Jesse’s dog weighs 23 pounds. The vet tells him his

cat’s weight is E as much as his dog’s weight. How much does his cat weigh?

5 o P1B 27 ) ¢
§ - = | [

- i
o Aol ] 5.1 D, /
e fal  peenivy 1Y J% /b
s )

¢/

2. Animage of a snowflake is 1.8 centimeters wide. If the actual snowflake is % the size of the image, what is

the width of the actual snowflake? Express your answer as a decimal.

;_3_',‘8 - "g'gﬁvr }LIH

’

v
: Y

-

v 4
' 3 /:1 r W > I 2 b 4 ' 4 f' P
Y 2 . PEE ¢ s
LA ,@%M@ﬁtﬁ/wfl s AP =
Z

y

3. A community bike ride offers a short 5.7-mile ride for children and families. The short ride is followed by
alongride, 5 § times as long as the short ride, for adults. If a woman bikes the short ride with her

children, and then the long ride with her friends, how many miles does she ride altogether?

\

/‘?z’. 5"‘?"2‘ 6 2y ? ) ‘q s - 29 2 2/
/ R >

Doy, 6 -2 x5 2‘; = ;5;}, > e s = 3?,? s

x,w\f{' 1o L0 = Ko} '

ov DFe”

w
L

-
=

3
)[; o 2 4 B2 9%
ad vt

Lesson 24: Solve word problems using fraction and decimal multiplication.

EUREKA
MATH

105



ASTORY OF UNITS

~ Lesson 24 Homework [EXTR

the sale price of the house?

,,/} e ol I\L[
{ % 1924

4. Sal bought a house for $78,524.60. Twelve years later he sold the house for 2= times as much. What was

bo x 2 7% L bt

Jhe patled 4 Nt
1,(;((,4/ 21 5‘J9J79L5
5.

In the fifth grade at Lenape Elementary School, there are : as many students who do not wear glasses as

those who do wear glasses. If there are 60 students who wear glasses, how many students are in the fifth
grade?

(/O {’vL :': )

~ - DN -
- ¢ — 1Y

e = (/X & T 2 O

() g

Y A £’
It e GAE '))é"(“ Aleedés 2 ;
JY

-

x
6. Ata factory, a mechanic earns $17.25 an hour. The presudent of the company ear’ns 6 times as much for

each hour he works. The janitor at the same company earns as much as the mechanlc How much does
the company pay for all three people employees’ wages for one hour of work?

M 3$17.26

?/ e e 5 s

e RIS 8 152 C e

g Jratwligs - VTERT T | Hoe

S .
i e } LD X ‘7?26- s .[.\O ’;",J (S
/5;)‘ } \—(oz

‘q‘_)\f‘-v;\
1560

\j)’\/@ "‘CH ’?Jﬁj/ ﬁ,yilq:}.é;’d

EUREKA . Lesson 24:
MATH

Solve word probléms using fraction and decimal multiplication
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A STORY OF UNITS : Lesson 25 Problem Set

Name Date

1. Draw atape diagram and a number line to solve. You may draw the model that makes the most sense to
you. Fill in the blanks that follow. Use the example to help you.

Example: 2+ § =_6
2 ?
I . 1 - |
; H
e ’
0 1 2
Do | 1 1 ) > T i o)l oo P ] e
NF L] 1 L] W b | L] I T I L l l T v
ARy S Mg R s 0% 12484 M5 b
3 3. 8 3- 3 3 3
Thereare 3 thirdsin 1 whole. i If 2is % , what is the whole? ___ 6
Thereare __6 _thirds in 2 wholes.
/) Yo
a. 4+ % = ) Thereare _“* halves in 1 whole. fais % , what is the whole? 8
There are _(>_halves in 4 wholes. 2 |
Q ~
b. 2= % = c There are L’ fourths in 1 whole. If 2 is % , what is the whole? 5
There are Qg fourths in 2 wholes.
) £ ’,/,.:} -
G Bict —;— = A9 There are _— _thirds in 1 whole. If5is g , what is the whole? ‘ 5
There are | Ez thirds in 5 wholes.
2 i
d 3+ %: ' 5 There are & fifths in 1 whole. 13 is—;-, what is the whole? ’ 9,

There are \ ‘ -2 fifths in 3 wholes.

EUREKA ’ Lesson 25: Divide a whole number by a unit fraction.
MATH
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A STORY OF UNITS

2. Divide. Then, multiply to check.

Lesson 25 Problem Set m

;l - ] ;l - ;l - 1 ;l -
a. 5+= 5 b. 3+3 & 4w Ao |d 1+2 s
/0 [ : )
1 -~ md: o) 5
e. 2+= [(J f 7‘+;'~ Ll P g 8—5 s ‘/1’ h. 9+- “)
. s C jo )
& X X o)

3.

make from 5 pieces of construction paper?

/
e

EUREKA
MATH

A 5 X ‘/

4

Lo gria e
Lesson 25:

r

) £

A0

A

Divide a whole number by a unit fraction.

*

For an art project, Mrs. Williams is dividing construction paper into fourths. How many fourths can she

108



A ST

ORY OF UNITS

Lesson 25 Problem Set m

4. Use the chart below to answer the following questions.

a.

Donnie’s Diner Lunch Menu

Food Serving Size
Hamburger =Ib
Pickles — pickle
Potato chips % bag
: Chocolate milk % cup

»
o & g,

b. How many pickle servings can be made from a jar of 15 pickles

e e e
G2 l/;—

1. C2ns S 72
c¢. How many servings of chocolate milk can he s

y23

”~) F
o 72

/¢

s

/&

X #

¢ f AL

P

How many hamburgers can Donnie make with 6 pounds of hamburger meat?

el = X

-

£/ ) 7
=y
e ;

?‘;

-
~ 2 ¢
2 s
v

/‘- . .
erve from a gallon of milk?

DX

Pt

/ f’/// 27
/

y = [ Ceuc #>

5. Three géllons of water fills ;of the elephant’s pail at the zoo. How much water does the pail hold?

o / +
.,A’I — — -~
(VA Y
o .
Lt il
WP LA s hd

EUREKA
MATH

‘ Lesson 25:

Ll

Divide a whole number by a unit fraction.
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Lesson 25 Homework m

A STORY OF UNITS

Date

Name
1. Draw atape diagram and a number line to solve. Fill in the blanks that follow.

There are 5 thirds in 1 whole.

a. 3+=-=
e : pe
PRI PAVATY (AEYY Th ' thirds in 3 whol
,32.13 1312131213 ere are thirds in 3 wholes.
il : 7

If 3is 35 what is the whole? /

s
There are ____ fourths in 1 whole.

There are ~- fourths.in _~ wholes.

If3is %, what is the whole? :
5 : o~
c. 4+== /i There are j thirds in 1 whole. 5
I & ] g 4
. d 11 § There are / thirds in’iwholes. .
| i VY
A . f 27
T | SO SOr, U e If4|s§, what is the whole? s
| A IR 0. v |
0 \ T S
1 7} : Y
de S o There are fourths in 1 whole.
| i I3 <
J V) KRER I There are () fourths in 2 wholes.
e N NENE EE LUl i ) i
'i‘ ) ' | ’ ! “” i*'[‘ IfSisZ,whatisthewhole? [t
g Lo g v D

110

Lesson 25: Divide a whole number by a unit fraction.

EUREKA
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A STORY OF UNITS

2. Divide. Then, multiply to check.

Lesson 25 Homework | 5'4

1 TR T ek B R el s
a 2—; 2 b. GTE = ’J G55 i A0 d. 5= e L'IO
o 70 j ) &/,
WS :’ A X i ;2() Wi Dl = ;’(_’) X v F.21 5
SN & PE ! O ¢
a1, 1 ) ¢ 1
pagy £ 1@ i o 2 £ Sy S
e. 6+3 8% 3+ 18 |86+ 56 | h- 6+ Lo
lgxt=2=¢ FERG e * 2 3 | DO S 2 b 42 7
S5 : {

3. Aprincipal orders 8 sub sandwiches for a teachers’ meeting. She cuts the subs into thirds and puts the

mini-subs onto a tray. How many mini-subs are on the tray?

Il / - P ;
S T i B e
i g

,

j,/ ? s Ap 7
ISl dse, R

‘
T

4. Some students prepare 3 different snacks. They make% pound bags of nut mix, % pound bags of cherries,

and % pound bags of dried fruit. If they buy 3 pounds of nut mix, 5 pounds of cherries, and 4 pounds of

dried fruit, how many of each type of snack bag will they be able to make?

2 s /!_ = \/3 X /l’.\:‘ - »r: ¢/
P
) - 3 2 4
L; - —’[; = X ¥ A O
- y
} 7 7
U = - = %I X L A
2z / :
I &4 1747 s Y & DO 4
y A LA Mo = E AL Poats Do el

‘ Lesson 25:

Divide a whole number by a unit fraction.

-
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A STORY OF UNITS Lesson 26 Problem Set f-17!

Name Date

1. Draw a model or tape diagram to solve. Use the thought bubble to show your thinking. Write your
quotient in the blank. Use the example to help you.

1
1
Example: -2-+3
141
Bl e
/
Lo s
a 3?2— & ) ”
o i
et ]
b 574‘— > L/p,/

A F T Lo s il

EUR!KA ’ Lesson 26: Divide a unit fraction by a whole number.
MATH
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ASTORY OFUNITS = ~ Lesson 26 Problem Set m

/ 1
g tamp s ¥ 4
4 2 e S [ i _'L, !.‘ el
: 2K ]|
et e PG .
§
SH |
1 <
g 2 8= /A
1 s
2. Divide. Then, multiply to check.
a. =+7=_L b. SR 8 (Y =5 = L d. o LSS (5
. 1y J 0 18 : 20 . e
- ! e 4
.L\('f'f’~, -Lv-i 5 "\‘Xg’é:' —'~\U*7”6
1d I | Sl - - I 4 |2 20 -
e 3+2= L f. 2+3= L g -+2= L b ad = ol
) 6 E.P 8 ‘(" 10 {00
\ / 115} l
L x222 ) Lo e lsnges ) —\—’\UD:"T“‘TO’
I 6" 5 0%, % T 14 | 'g oo oo
Lesson 26: Divide a unit fraction by a whole number.

EUREKA
MATH
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A STORY OF UNITS Lesson 26 Problem Set =11

3. Tasha eats half her snack and gives the other half to her two best friends for them to share equally. What
portion of the whole snack does each friend get? Draw a picture to support your response.
\

|
{ \ N,

/—Tl 1T =% )

3
t
]

4. Mrs. Appler used %gallon of olive oil to make 8 identical batches of salad dressing.

a. How many gallons of olive oil did she use in each batch of salad dressing?

2 (& z

. / A‘ }‘4 » " % 7 Y : ?
7. , ) 4 114 gpilin Al oWV L7

AV A Lt o G

l
b. How many cups of olive oil did she use in each batch of salad dressing?

&/ L S 7, ; 4 &2/ : /&,’cf g - [le Ceegfa e/
PR/

I ) , 3
L?; "‘/ /<’,_‘V,,‘./ =" 1) s

/ f sy ’ A P 4 / ¢ L
 fs e o o - o {7 ¢
- LA s

P

5. Mariano delivers newspapers. He always puts % of his weekly earnings in his sévi'n‘gs account, and then
divides the rest equally into 3 piggy banks for spending at the snack shop, the arcade, and the subway.

a. -What fraction of his earnings does Mariano put into each piggy bank? L/ 4 =
ettt 4 Yy

b. If Mariano adds $2.40 to each piggy bank every week, how much does Mariano earn per week
delivering papers? )

>
RS
e

|

Lesson 26: Divide a unit fraction by a whole number.

s
g

N
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A STORY OF UNITS Lesson 26 Homework m

Name Date

1. Solve and support your answer with a model or tape diagram. Write your quotient in the blank.

L -
i b.:+6=_12
a. = > g ]
al /
Lo B~ (RN S
€3 3= d. = 2 o
ZRE
2. Divide. Then, multiply to check.
1. R A Lo : ] AR e ! A
a. 2.10 -+ b. 2710 = 2 € =%5 d. = =3 =
Al HO « -
R 72y /! B et h. 2420 9
8 > ) 7 ES 10 2 -
2o L} bo Jo6

EUREKA Lesson 26: Divide a unit fraction by a whole number.
MATH 116



A STORY OF UNITS Lesson 26 Homework 108

3. Teams of four are competing in a quarter-mile relay race. Each runner must run the same exact distance.
What is the distance each teammate runs?

/
el e N £,
Py, :
e Ry it
7 /270 f P s ‘( 2% o prec )

AL YL

4. Solomon has read § of his book. He finishes the book by reading the same amount each night for 5 nights.

a. What fraction of the book does he read each of the 5 nights? 2/
pF 2 /2 "
// o :\ ~——(—":; >
F2, /_.’:j

)

b. If he reads 14 pages on each of the 5 nights, how long is the book?;

) ¢ — . / £ 0 - 2 ,ﬂ
T & 76 Y =T 7
ks 3

117

EUREKA ‘ Lesson 26: Divide a unit fraction by a whole number.
MATH



Lesson 27 Problem Set [}

A STORY OF UNITS

Date

Name
1. Mrs. Silverstein bought 3 mini cakes for a birthday party. She cuts each cake into quarters and plans to
serve each guest 1 quarter of a cake. How many guests can she serve with all her cakes? Draw a picture
to support your response. ; ’

S E i =

]
2 it I

{

Mr. Pham has% pan of lasagna left in the refrigerator. He wants to cut the lasagna into equal slices so he
can have it for dinner for 3 nights. How much lasagna will he eat each night? Draw a picture to support

your response.

)

: .
3. The perimeter of a square is 5 Meter.
Draw a picture to support your response.

a. Find the length of each side in meters.
13
L0
| — \
L~ 1
5 .\
I
—
b. How long is each side in centimeters? 1\ /7 nJ
\, 2 A%
1 { ]
- ! - { - 2 v
‘ Lesson 27: Solve problems involving fraction division.
119
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A STORY OF UNITS Lesson 27 Problem Set m

4.0 A pallet holding 5 identical crates weighs % ton.
a. How many tons does each crate weigh? Draw a picture to support your response.

<
¢
(“ .
N
?.
\

4

5. Faye has 5 pieces of ribbon, each 1 yard long. She cuts each ribbon into sixths. i
a. How many sixths will she have after cutting all the ribbons?

-4
/ )
7’_ " 7f s »
«7 . N1 (LA A =P
b. How long will each of the sixths be in inches?
J -
/ s 7 /4 7 4 > . J
" {
"{" Al - i L
v y . ;
¢ el : 2

EUR!KA ’ Lesson 27: Solve problems involving fraction division.
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6. Aglass pitcher is filled with water. %of the water is poured equally into 2 glasses.
a. What fraction of the water is in each glass?

. 7/
— — g . e )
2 T I ¢
y 47 S
/ F .
% .
,,,
w1
.
>
- y "
X 0/ / p 2
g £ <7 7 Y, B4 / &

(ol If% of the remaining water is poured out of the pitcher to water a plant, how many cups of water are
left in the pitcher?

4o — ¢ = Y2 55 Y

iy
~
A

)

{

Z/l SRy /ﬂc = d D e s e tes
;4 0
c O < Sk
- i ) 3 \ 2 i 45 8%5&4,5{ Ry = 1O
BlYox 5283 xd:63 gl b
2 g > 8Tz~ "¢
/\. 7 o
/ ; &/ 1 - e
Jhere ae O Y tupae b coslet Lk
¥ [ P4 =
EU“KA ‘ Lesson 27: Solve problems involving fraction division. ¥ c
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Date

Name

1. Kelvin ordered four pizzas for a birthday party. The pizzas were cut in eighths. How many slices were
there? Draw a picture to support your response.

Wl e o = ey g
~ 22X ] & ; ]
| l l,. i 5» 2
b - - o B -1 G el
{ } } )4 i
! ! 5 Elofe e ) e |
i
< P22
) E e o 2 ,.,‘:(_n:‘ 2.
) ¢ F £ - S d

.

2. Virgil has -;— of a birthday cake left over. He wants to share the leftover cake with 3 friends. What fraction
of the original cake will each of the 4 people receive? Draw a picture to support your response.

/ =5 'n./ o __«/——— T ;lg 7 l T } i > -
L [ 2t | -
e = o } £l i
F0 ] i
S8 N ,
—a..-f-n._ i . 1 ] )
USSR 3
.
2¢ e
g
‘
2 P 77
7 ¢/ . / -
] g Gt A 3 r 7 7 3K > o 4
ﬂi".’:”df LN JCLL. ACLELS LY

* 3. Anpitcher of water contains% liters of water. The water is poured equally into 5 glasses.
" a. How many liters of water are in each glass? Draw a picture to support your response.

4 4 = 5 o s -.’T" *, L
P e | A

/
3 {

; Y 4 2.4 . .f! 3 //7
Lachy glats copnlairsr J2e

b. Write the amount of water in each glass in milliliters.

1
o2l 5 5 i

oeé u~
_’,~ x /pet 2 ,,,,/—v. e 50

20 o
AP /. —t 4
(alh atidda s anddiiid Soml

EUREKA G ‘ Lesson 27: Solve problems involving fraction division.
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Lesson 27 Homework =10
4. Drew has 4 pieces of rope 1 meter long each. He cuts each rope into fifths.
a. How many fifths will he have after cutting all the ropes?
4% = 2o
/0,- AN ACCLL Z & 2/0 ;/"/s.lf»;“ 2.
b. How long will each of the fifths be in centimeters?
/. . 3 /oG -
— X foe e - i ¥
2 o 7 g 277 st oonse
5745/1/ -{404 wr AT A T & /*e ¥
/B o ¢
5. A container is filled with blueberries. % of the blueberries is poured equally into two bowls.
a. What fraction of the blueberries is in each bowl?
s ! :
~ i R g
<& ¥ 4
Z ; p g - (T/, sy v ;
Ll AFBanT e —FL b 2 OF ALt tld e <3
y .
b. If each bowl has 6 ounces of blueberries in it, how many ounces of bfueberries were in the full
container? ’
bxdo iR 5. 7 4
7 / 7 < , RS
. L & 2R £ A & ALA L L
C If%of the remaining blueberries are used to make muffins, how many pounds of blueberries are left
in the container? ik
Bl
4 N 7 = ,2:( g - :
— 7/ A S 7l 2/
5 € LS 1228 f 57 75 sunrira)
ES e =16 YALYRS Il 4
/5 - ‘02 5)
L — ",;.
5 et e Il Qe =
SN (UL o | -
EUREKA ‘ Lesson 27:

Solve problems involving fraction division.
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Name Date

1. Divide. Rewrite each expression as a division sentence with a fraction divisor, and fill in the blanks.
The first one is done for you.

i There are __10 _tenths in 1 whole.
Example: 2-+0.1=2+ T 20
There are __ 20 _ tenths in 2 wholes.

A Belils G- 90 b. 8+0.1= gt :
i ! &
{ " | ) 5
There are !1 O tenthsin1 whole. There are ~  tenthsin 1 whole.
There are ‘* £ tenths in 5 wholes. There are 0 tenths in 8 wholes.
N Py Y it | <7
652201 =" 925t = 94 digreon= gil==_= ¢
There are :: ) O tenths in 5 wholes. Theré;al:‘e LC; < tenths in 8 wholes.
B 4
’

Thereare __“  tenthsin 2 tenths. There are __« tenths in 7 tenths.

There are ‘f) > tenths in 5.2 There are 2 ‘; tepths in8.7

c: 1 <= Spo e
e. 5+0.01 = 27 oo e f. 8+0.01= 0% 7% :
C loe
There are_|© © hundredths in 1 whole. Thereare_|© © hundredths in 1 whole.
<o -~
Thereare_~ ~  hundredths in 5 wholes. There are _% 2 hundredths in 8 wholes.
AR 5 2 e -
g 52+001= X Ty h.87+001= 7= oo
There are E Z (> hundredths in 5 wholes. There are ({‘C ' hundredths in 8 wholes.
"
Thereare ___ ) hundredths in 2 tenths. There are hundredths in 7 tenths.
2 @2 :
There are 5 A hundredths in 5.2 There are hundredths in 8.7
EUR!KA ‘ Lesson 29: Connect division by a unit fraction to division by 1 tenth and
1 hundredth.
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a. 6+0.1 b. 18+0.1 c. 6+0.01
v ) ¢ L6 S =y [ — 1 A>T
Gpa i [ ¢ Bl 8 @ Yolns A
) Ps)
d 1.7+%0.1 e. 31+0.01 f. 11+0.01
! ] r . ! ' 7
)& 2 ol e
7% s 1= 00 = 21€ J i e
g 125%0.1 h. 3.74+0.01 : i. 12.5+0.01
o = } S ] TN > <2 . ‘ ~ -“,{‘?' /7 / ? -
R854, =250 | 36745 7,5 dTH  rai6% 5, 125®

3. Yung bought $4.60 worth of bubble gum. Each piece of gum cost $0.10. How many pieces of bubble gum

did Yung buy? o
: z
27 2 — " 5 2L, .
o e 2 2 .
-
r
/7 Vi 2H A 3
I A DAL [/ S . v & o
/; UL, _Nptortt ” 4 1A

4. Chéryl solved a problem: 84 +0.01 = 8,400.
Jane said, “Your answer is wrong because when you divide, the quotient is always smaller than the whole
amount you start with, for example, 6 + 2 =3 and 100 + 4 = 25.” Who is correct? Explain your thinking.

'

C/j.’/!_.e” v’,/ e T &t
i ]
/”"’t' 5 ‘ P ". ’ /. ¢ ."» ~ v , {. 7
onlry ( At ekle? “AY G FEAAALLY e 3 / s
/ij ? gy & 5 ¢ , & 22 AL I Bt ’
7 4 ) A ALL e AL A B A &t
Ve le  pierd At . A 5 ot

5. The U.S. Mint sells 2 ounces of American Eagle gold coins to a collector. Each coin weighs one-tenth of an
ounce. How many gold coins were sold to the collector?

e R J
4 >
;L{/jft/k il AL A EX
EUREKA Lesson 29: Connect division by a unit fraction to division by 1 tenth and
- 1 hundredth.
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Lesson 29 Homework m

Date

1. Divide. Rewrite each expression as a division sentence with a fraction divisor, and fill in the blanks. The
first one is done for you.

Example: 4+0.1=4 +1—10 =40

a.

EUREKA
MATH

There are __10 tenthsin 1 whole.

There are __40 _tenths in 4 wholes.

9+01= 77> 55° 790
There are ." “  tenthsin 1 whole.
There are " 3 tenths in 9 wholes.
0 } S
. 36+01= Jelb 7 5t

/¢

There are :‘ ’g:’;‘ tenths in 3 wholes.

Thereare s _tenths in 6 tenths.

Theteare. 2% tenths In3 5.

- g = = G O

Jpi= B =i
Thereare |2 hundredths in 1 whole.

There are 222 hundredths in 3 wholes.

. a7:001= .75 = = Y70

There are_“/2C hundredths in 4 wholes.

There are hundredths in 7 tenths.

Thereare #0 7] hundredths in 4.7.

Lesson 29:
1 hundredth.

b. 6+0.1= f=.5 Flro
There are tenthsin 1 whole.
There are tenths in 6 wholes.
d. 12.é+<‘0.1 = ~,f3'- o T

7 -
There are /2 tenths in 12 wholes.
T
Thereare”_ % - tenths in 8 tenths.

There are i: ¢ tenthsin 12.8.

f.7+0.01=

Thereare /£ © hundredths in 1 whole.

There are /27 hundredths in 7 wholes.

h. 11.3+0.01= 3~ WOt

There are [/ & hundredths in 11 wholes.

There are __2©_hundredths in 3 tenths.

Thereare |/ 72 hundredths in 11.3.

Connect division by a unit fraction to division by 1 tenth and
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2. Divide.
.. 2%0:1 b. 23+0.1 c. 5+0.01
POy 92 2 L _ 22 v d :
N "/{) c _:\;\) .;73*:\"’” 7'1‘) > AJS© 5“‘:‘ 700 = ;3:0&3
d. 72.2+0.1 e. 51+0.01 f. 31+0.1
- ! —— ~F # po 2 s } o ) o
1-2% o7 72 Siel = gre | Bl o w20
g 231201 h. 4.37+0.01 i 24.5+0.01
Najs | 22 ) . o
.)5 e 7‘)— A2l 2 L5257 '“ 2 :_,’/' v so T AS 50

3. Giovanna is charged $0.01 for each text message she sends. Last month, herEeLI phane bill included a
$12.60 charge for text messages. How many text messages did Giovanna send?. :

b 2= <+ = Wéo

" loe
AN e m A (A © ALEU 20n€A4 Gf A
4. Geraldine solved a problem: 68.5 + 0.01 = 6,850. s

Ralph said, “This is wrong because a quotient can’t be greater than the whole you start with. For
example, 8 + 2 =4 and 250+ 5 =50." Who is correct? Explain your thinking.

!
2 © k4 - S R

g s - - - S 7 ¥ =
(o 8 w | o Vod &8 o0

) / 4 ' RETRITY. /) / g y 5
A3 (cfir_i,_fv_,;;,r,f ﬁ ez CERNELYr » AAE et ) A ;
" 2
o 4 A2

5. The price for an ounce of gold on September 23, 2013, was $1,326.40. A group of 10 friends decide to
equally share the cost of 1 ounce of gold. How much money will each friend pay?

’ g
e P & Jire - 2l &
// 2326 . ¥ <+ [0 / QA0
T8 P g 2
< ! 4 T 4
! 73 A A 7, P b 3 s} (44
[ tios 2 PR l” e (e 7 WA V5 .

Lesson 29: Connect division by a unit fraction to division by 1 tenth and
1 hundredth.

EUREKA
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Name

Lesson 30 Problem Set m

Date

1. Rewrite the division expression as a fraction and divide. The first two have been started for you.

= —-2;7~ - —ﬂ
a. 2.7+03= o b. 2.7+0.03= 503
27510 _ 27x100
T 03x10 7 0.03x100
=Z _270
=2 -z
=9 = 4o
b = >
¢ 35+05= 3.2 d. "3.5+0.05= 5.5
o-5 0.0%
1 £
IO . o R e o
<, » 1,{3 -
5 e'.‘“ ot x loo
e 33({\ »
=3,
] i
o
e. 42+07= e f. 042+007= -
i
L.2 = \o = 6.4zXleo
i O > > ) "
- Uz - 2?’;"'
K —; .
= ¢ L

EUREKA
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‘ Lesson 30:

Divide decimal dividends by non-unit decimal divisors.
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1o o

' o~
~

2 -

h. 1.08 +0.09 =

j. 036-+0.12=

o, ,.»';{o~ AT A 12
£ 3 = /e
= Jée
2o = =
- 9 Sh > eh Y
k.- 17.5525= Ii- . 175025 = v: 2
*
24

Siw g . RO 176 = .

, e =

] 7 &
b7 ‘-‘—) .
o
—

r 4
7 ;
LA ALY

EUREKA
MATH

15 + 3 =5. Explain why it is true that 1.5 + 0.3 and 0.15 + 0.03 have the same quotient.

J/n — //3,
"/- t y \ o) £

e f )RS
; 4/ 277 A1 2 T 2

b Jhe Aol . Jleit da

y
7
7/

U

Lesson 30:

';,_ A :./;Z,.—:/ (;:‘."»"'w"{rf“' Aite /L

S e P ey, W) O,
bl Aevcdends Gl VT

\

;i
N e A a et >z 2
f

T . A

Divide decimal dividends by non-unit decimal divisors.
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3. Mr. Volok buys 2.4 kg of sugar for his bakery.

a. If he pours 0.2 kg of sugar into separate bags, how many bags of sugar can he make?

T 2 -
_9\ t Y - bas 4,“--’5—}

)
;r“\

» 1] > R p
/ > s =
Vs L;’}i‘ z. -:: P f’% ALl P IR FE en ol gl v /’1 7
o 8 = “ 4

b. If he pours 0.4 kg of sugar into separate bags, how many bags of sugar can he make?

™

0
7 24

/2 L Basd ( A

o 74

o, TN

&

4. Two wires, one 17.4 meters long and one 7.5 meters long, were cut into pieces 0.3 meters long. How

many such pieces can be made from both wires? * &
Pomip = 2 e il S :
Y 3 ' 5.58 +t25=8 3
s g = e
Jex - Z

b3 pecess

U ) . .
5. Mr. Smith has 15.6 pounds of oranges to pack for shipment. He can ship 2.4 pounds of oranges in a large
box and 1.2 pounds in a small box. If he ships 5 large boxes, what is the minimum number of small boxes

required to ship the rest of the oranges?

28 x5 = JAp

: WL (- S
Bl = iz = Sl T % 3

' b ST Ko S DU it
Lo Lt L R 7 4/ VI ORI L i

EUREKA ‘ Aesson 30: Divide decimal dividends by non-unit decimal divisors.
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Date

1. Rewrite the division expression as a fraction and divide. The first two have been started for you.

EUREKA
MATH

’ Lesson 30:

2.4 2.4
a. 2‘470'8_0.8 b. 2'470'08_0.08
_ 24 x10 _ 24x100
T 08x10 "~ 0.08x100
_z _240
g N
= 5 =506
4.€ 0 Y¢
c. 48+06= _——— d. 0.48+0.06= AR
o e 006
" [
7 x )ea Y&
4/-’ g X )& (;"I'L_ ,,_,0.'L)g 2l "'[‘
- ; o-0é < (oo &
O =< (e o -l
e
u O .54
e. 84+07= A.,.?', 2 f. 084+007= ° : =
o8 O .00
% d xre Y o8 1o 54
Y i i S - .
o 27 S -7 D77 o8 g
ks e ) 19
L A
Divide decimal dividends by non-unit decimal divisors.
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g 45+15= o e T B bR - T w8
/5 5 o./s <
= 23
o -
Y, ) 2 2
i 144+12= 1y, «f padar obh i DAz L s
P v :,;, iy e :
== AT & 7

2.
these division problems.
7 il /' 57 aLr ((’
0o/ 3 Gmnt
3.

S
7 LSRN (7 &
O. 6 e AL

0.3 aue

Denise is making bean bags. She has 6.4 pounds of beans.

Leann says 18 + 6=3,501.8 +0.6 =0.3 and 0.18 + 0.06 = 0.03. Is Le'ar;n correct? Explain how to solve

-

e’ / 6! /s
7 » . )
2 . v+ o s 9

a. If she makes each bean bag 0.8 pounds, how many bean bags will she be able to make?
e ]/ v r. &L
L s a, i IR
A —t P
€
4 774 Y -/ 4
45,1( K F )L / f
b. If she decides instead,to make mini bean bags that are half as heavy, how many can she make?
Gl e - A
- &
/\&//’/LC CC#n \'—‘,';‘A Eils o
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Divide decimal dividends by non-unit decimal divisors.
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4. Arestaurant’s small salt shakers contain 0.6 ounces of salt. Its large shakers hold twice as much. The
shakers are filled from a container that has 18.6 ounces of salt. If 8 large shakers are filled, how many
small shakers can be filled with the remaining salt?

Aorger

/ 2‘

-6: \-’ /, - = 7-é L;.L.(/YVC_,W

i

Q‘n

£
il L T 9 i PRy 90 = /5 shoadiens

far g ahglkenns [+ Rerih

g6
t z‘l 3 (fzf 22 )F}{_ji&}_’ 7. & grrtts’
- :

b e N

o4 § .
b FA 82
&S e (>

6 106l pblob (pbigelte \pe ln wary ,L = O
L St |0¢ jebigelie 1p.6 00 06 locely “f_f’ O‘jé_J_O’@J ]

| S ebhmdlens

EU“KA ‘ Lesson 30: Divide decimal dividends by non-unit decimal divisors.
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